
Effective November 2017

co
rb

y
IN

ST
A

LL
A

T
IO

N
   

G
U

ID
E



CORBY INSTALLATION GUIDE

1 	 globalfurnituregroup.com

NOTE: Any alterations to listed components will void the manufacturer’s war-
ranty. The manufacturer will not be responsible for any damage or bodily harm 
caused by alterations in accordance with national or local electrical codes and 
manufacturer’s specifications. In accordance with the manufacturer’s policy of 

continual product improvement, the product presented in this document is 
subject to change without notice or obligation.

Please contact your Global Customer Care Representative at (800) 220-1900 for 
any questions or concerns.

CBYCTxxxxHxx - Occasional table
CBYRxx32 - Peninsula table
CBYRTxxxx - Freestanding work table
CBYCMPWxxHxx - Modesty panel
CBYRxx32 + CBYPxxLB32 - Peninsula table with low base (LB) pedestal 32”D
CBYRxx32 + CBYPxxHB32 - Peninsula table with high base (HB) pedestal 32”D
CBYSxx + CBYCxxLB/CBYCxxHB - Stack-on bookcase with credenza

02
02
02
03
04
05
06

PRODUCT INSTALLATION



CORBY INSTALLATION GUIDE CORBY INSTALLATION GUIDE

globalfurnituregroup.com	 2 

CBYCTxxxxHxx - OCCASIONAL TABLE / CBYRxx32 - PENINSULA TABLE / CBYRTxxxx - FREESTANDING WORK 
TABLE

Safety glasses
Required tools

Cordless drill
NOTE: Open and assemble only one product at 
a time to avoid a potential mix-up of parts and 
hardware.

It is advisable to assemble the unit on a clean 
padded surface to avoid scratches.

CAUTION: Do not drag the assembled furniture 
across the floor. Lift the unit completely off the 
floor, and move it to the desired location.

ASSEMBLY (only freestanding work table shown for demonstration)

STEP 1: �Place the worksurface upside down on a clean padded surface. Make 
sure the inserts are preinstalled.

Bit #2 Robertson Screwdriver #2 Robertson

Countersunk FH screw 
1/4-20 x 3/4, Qty. 20

STEP 2: �Position the preassembled legs to align the holes in the bracket 
with the preinstalled inserts in the worksurface. Secure each 
bracket to the worksurface with the five (5) supplied countersunk-  
FH screws (1/4-20 x 3/4).

Fluid leveler

STEP 3: �Flip the assembled table upright. Adjust the glides to level the 
worksurface.

CBYCTxxxxHxx - Occasional table CBYRxx32 - Peninsula table CBYRTxxxx - Freestanding work table

NOTE: For Peninsula table attach only 2 legs. 

Included hardware



CORBY INSTALLATION GUIDE

3 	 globalfurnituregroup.com

Safety glasses
Required tools

Measuring tape Cordless drill

NOTE: Open and assemble only one product 
at a time to avoid a potential mix-up of parts  
and hardware.

It is advisable to assemble the unit on a clean 
padded surface to avoid scratches.

CAUTION: Do not drag the assembled  
furniture across the floor. Lift the unit com-
pletely off the floor, and move it to the desired 
location.

ASSEMBLY (only freestanding work table shown for demonstration)

Included hardware

STEP 1: �Place the modesty panel flat on a clean padded surface. Attach 
brackets to the modesty panel with provided screws. (#8 x 5/8”, Qty. 6)  
(Pilot holes on modesty panel indicate the location).

Bit #2 Robertson

Screwdriver #2 Robertson

BOTTOM VIEW

Modesty panel bracket 
Qty. 1 set

LH RH

Robertson PH screw 
#8 x 1”, Qty. 6

Robertson PH screw 
#8 x 5/8”, Qty. 6

STEP 4: �Insert screws (#8 x 1”, Qty. 6) through the brackets into the 
bottom surface of the table.

STEP 2: �Place the assembled table upside down on a clean padded 
surface.

STEP 3: �Place the assembled modesty panel on the bottom surface of the table. 
Align the modesty panel 6” inset from the top edge and equal the 
spacing sideways. Drill pilot holes through the bracket using the drill 
machine.

STEP 5: �Flip the assembled table upright. Adjust the glides to level the 
worksurface.

Fluid leveler

6” inset

==

CBYCMPWxxHxx - MODESTY PANEL



CORBY INSTALLATION GUIDE CORBY INSTALLATION GUIDE

globalfurnituregroup.com	 4 

CBYRxx32 & CBYPxxLB32 - PENINSULA TABLE WITH LOW BASE (LB) PEDESTAL 32”D
Required tools

NOTE: Open and assemble only one product at 
a time to avoid a potential mix-up of parts and 
hardware. It is advisable to assemble the unit on 
a clean padded surface to avoid scratches.

CAUTION: Do not drag the assembled  furniture 
across the floor. Lift the unit completely off the 
floor, and move it to the desired location.

ASSEMBLY

Included hardware
Phillips PH screw 
1/4-20 x 11/4, Qty. 2

Washer plate  
Ø 1/4”, Qty. 2

Double sided adhesive tape 
Qty. 1 

Riser box (Sold separately) 
Qty. 1

STEP 1: �Clean the top surface of the pedestal with a damp cloth, followed by a 
soft dry cloth in the direction of grain.

STEP 2: �Place the peninsula table upside down on a clean padded 
surface.

STEP 3: �Attach the riser box to the peninsula table with Phillips PH screw (1/4-20 x 11/4) and washer plate (Ø 1/4”). Apply double sided adhesive tape to the 
bottom of the riser box.

Safety glasses Cordless screwdriverBit #6 Phillips Screwdriver #6 Phillips Fluid leveler

RISER BOX OPENING OUTSIDE RISER BOX OPENING INSIDE

STEP 4: �Flip the assembled peninsula table and the riser box and set them on the low base (LB) pedestal as the configuration requires. Apply moderate pressure 
from the top of the peninsula table at least one minute for the pressure sensitive double sided tape to adhere. 

FLUSH CONFIGURATION

STEP 5: The units are assembled. Adjust the glides to level the worksurface. (Only Riser box opening outside shown for demonstration) 

OFFSET CONFIGURATION

FLUSH CONFIGURATION OFFSET CONFIGURATION

or



CORBY INSTALLATION GUIDE

5 	 globalfurnituregroup.com

CBYRxx32 & CBYPxxHB32 - PENINSULA TABLE WITH HIGH BASE (HB) PEDESTAL 32”D
Required tools

NOTE: Open and assemble only one product at 
a time to avoid a potential mix-up of parts and 
hardware. It is advisable to assemble the unit on 
a clean padded surface to avoid scratches.

CAUTION: Do not drag the assembled furniture 
across the floor. Lift the unit completely off the 
floor, and move it to the desired location.

ASSEMBLY

Included hardware
Phillips PH screw 
1/4-20 x 11/4, Qty. 2

Washer plate  
Ø 1/4”, Qty. 2

STEP 1: Remove the drawer from the pedestal, if any. STEP 2: �Four (4) predrilled holes in the pedestal top are provided. 
Depending on the configuration (as shown in step 3), two (2) 
holes must be drilled all the way through the top of the unit.

STEP 3: Type of configuration 

Safety glasses Cordless drill/screwdriverBit #6 Phillips Drill bit 10mm Fluid leveler

FLUSH CONFIGURATION OFFSET CONFIGURATION

STEP 4: �Place the peninsula table on the pedestal to align the two (2) drilled holes in the pedestal with the two (2) inserts installed in the bottom of the worksur-
face. Install two (2) Phillips PH screws (1/4-20 x 11/4 ) from the bottom of the pedestal top to the peninsula table. 

FLUSH CONFIGURATION

STEP 5: Slide the drawers back into the pedestal, if any. The units are now assembled.

OFFSET CONFIGURATION

FLUSH CONFIGURATION OFFSET CONFIGURATION



CORBY INSTALLATION GUIDE CORBY INSTALLATION GUIDE

globalfurnituregroup.com	 6 

CBYSxx & CBYCxxLB/CBYCxxHB - STACK-ON BOOKCASE WITH CREDENZA
Required tools

NOTE: Open and assemble only one product at 
a time to avoid a potential mix-up of parts and 
hardware. It is advisable to assemble the unit on 
a clean padded surface to avoid scratches.

CAUTION: Do not drag the assembled furniture 
across the floor. Lift the unit completely off the 
floor, and move it to the desired location.

ASSEMBLY

Included hardware
L-bracket (Optional) 
Qty. 2

Robertson PH screw (Optional) 
#8 x 5/8, Qty. 8

Double sided adhesive tape 
Qty. 1 

STEP 1: �Clean the top surface of the credenza with a damp cloth, followed by a 
soft dry cloth in the direction of grain.

STEP 2: Place the stack-on bookcase flat on a clean padded surface.

STEP 3: �Apply double sided adhesive tape to the bottom edges of stack-on 
bookcase

Safety glasses Cordless screwdriverBit #2 Robertson Measuring tape

STEP 5: �Apply moderate pressure from top of the stack-on bookcase for at least 
a minute so that double sided adhesive tape sticks firmly.

STEP 7: The units are secured.

STEP 4: �Align the stack-on bookcase on the credenza in any desired corner.

STEP 6: �[OPTIONAL] Additional support may be added by installing 
L-brackets along the outside back of the assembled units with 
supplied screws (#8 x 5/8). These L-brackets and screws are 
sold separately.

Front view Side view



Atlanta 
10 10th Street
Suite 150
Atlanta, GA  30309
T (404) 879-0998
F (404) 879-9995

Boston
One Harbor Street 
Suite 104
Boston, MA  02210
T (617) 406-5435  
F (617) 406-5438

Chicago
The Merchandise Mart
222 Merchandise Mart Plaza
10th Floor, Suite 1035
Chicago, IL 60654
T (312) 755-0843
F (312) 755-0837

Detroit Area
25925 Telegraph Road
Suite 145
Southfield, MI  48034
T (248) 357-7211
F (248) 357-7241

Ft. Lauderdale
Las Olas City Centre
401 East Las Olas Blvd. 
Suite 230
Ft. Lauderdale, FL 33301
T (954) 763-2684  
T (800) 331-0529
T (954) 763-6870

New York City
386 Park Avenue South 
7th floor
New York, NY 10016
T (212) 545-9900  
T (888) 315-1301
F (212) 545-5826

Philadelphia Area
119 Greentree Road
Marlton, NJ  08053
T (856) 596-3390  
T (800) 220-1900
F (856) 596-4472

Phoenix
4675 E Cotton Center Blvd. 
Suite 165
Phoenix, AZ  85040
T (602) 426-0666  
T (602) 426-0777
F (602) 426-1148

St. Louis
5 Document Drive
St. Louis, MO 63114
T (314) 432-4463
F (314) 432-4471

Washington, DC
1130 Connecticut Avenue
10th Floor, Suite 1000
Washington, DC  20036
T (202) 659-0230  
T (202) 659-0236
F (202) 659-0306

Atlanta Area
2124 Evergreen Blvd.
Duluth, GA  30096
T (678) 602-4130  
T (800) 220-7328 
F (678) 602-4136

Baltimore Area
Troy Hill Corporate Center
7030 Troy Hill Drive
Elkridge, MD  21075
T (410) 379-8021 
T (800) 863-7300
F (301) 362-9444

Boston Area
19 Connector Road
Unit 1
Andover, MA 01810
T (978) 470-8463   
T (800) 876-8980
F (978) 470-8920

Chicago Area
1879 Internationale Blvd.
Glendale Heights, IL 60139
T (630) 681-2818  
T (800) 866-6497
F (630) 681-1631

Cincinnati Area
8712 LeSaint Drive
Fairfield, OH 45014
T (513) 777-0009 
T (800) 552-3375
F (513) 777-5863

Dallas Area
2025 West Beltline Road 
#100
Carrollton, TX 75006
T (972) 236-1366  
T (800) 929-2936
F (972) 236-1372

Denver Area
16401 East 33rd Drive
Suite 50
Aurora, CO 80011
T (303) 340-1617  
T (800) 275-6655
F (303) 340-1657

Ft. Lauderdale Area
560 Sawgrass Corp. Pkwy
Sunrise, FL 33325
T (954) 846-8888  
T (800) 331-0529
F (954) 846-8110

Houston Area
7865 Northcourt Road
Building D, Suite 200
Houston, TX 77040
T (713) 695-5777  
T (800) 935-6468
F (713) 695-5778

Los Angeles Area
12320 Bloomfield Avenue 
Unit A
Santa Fe Springs, CA 90670
T (562) 484-9686  
T (800) 640-0301
F (562) 484-9685

Minneapolis Area
2000 Freeway Boulevard
Brooklyn Center, MN  55430
T (763) 560-8196  
T (800) 829-2153
F (763) 560-2098

New Orleans Area
901 South Labarre Road 
Suite 201 
Metairie, LA 70001
T (504) 834-6228  
T (800) 275-0663
F (504) 835-9638

Pittsburgh Area
380 Leetsdale Industrial Dr.
Leetsdale, PA 15056
T (724) 385-1200  
T (800) 942-9999
F (724) 385-1207

San Antonio Area
6950 Alamo Downs Pkwy 
Suite 100 
San Antonio, TX 78238
T (210) 684-8450  
T (800) 683-4000
F (210) 684-3700

San Francisco Area
44091 Nobel Drive
Fremont, CA  94538
T (510) 897-4150  
T (888) 418-4800
F (510) 897-4156

Seattle Area
Oakesdale Commerce Ctr.
820 Southwest 34th Street 
Building W7, Suite A
Renton, WA  98057
T (425) 291-9282  
T (888) 218-2600
F (425) 291-9287

Kansas City Area
11617 West 81st Street
Lenexa, KS  66214
T (913) 310-9963  
T (800) 796-0770
F (913) 310-9976

Tampa Area
10351 Windhorst Road
Tampa, FL 33619
T (813) 621-6272  
T (877) 707-3966
F (813) 621-7958

Global US Headquarters/Distribution Center
17 West Stow Road, P.O. Box 562
Marlton, New Jersey U.S.A. 08053
T (856) 596-3390 
T (800) 220-1900 
F (856) 596-5684

A $25 net handling charge per shipment  
will be applied for non-UPSable orders of  
less than $2,000 list.

Showrooms Distribution Centers

globalfurnituregroup.com


